3.3. Gleichungen und Ungleichungen mit Briichen, deren Nenner Variablen enthalten § ,i,%&qg mg;,g

a) ID = @\ {0}; IL={%} b ID=0\{0}; IL={-1}
c) ID=0\{0}; x=0; O€ID; IL=0Q

2. a) ID=@\{0}; IL={1} b) ID = @\ {0}; IL={%}
¢) ID =@\ {0}; 2% =2x; IL=@\ {0}

3. a) ID=@\{-1,0}; IL={4) b) ID=@\{0,2}; IL={-6}
c) ID=0\{-5}; -.|L={—-56_}

4 2)ID=0\{3,5}; IL={0} b) ID=@\{1,2}; IL={-2}

¢) ID=@\{-2,-1}; 'L={_'i15}

5. a)ID=Q\{3} x=3; 3¢ID; IL=0
b) ID=Q\{4}; 4x=4x; IL=0Q\ {4}
c) ID=@\{5}; x=5; 5€ID; IL=0Q
5. a)ID=@\{-1,2}; 2x—-8=2x+1; IL=0Q
b) D=0\ {-3,9}; IL={0}
¢) ID=@\{-2,0}; Sx+6=5x; IL=0Q



10.

11.

12.
13.

14.

15.

16.
17.

18.

19.

20.
21.

22,

a) D=-@\{3.4: IL={6} b) ID=0\{-10,2}; IL={-1}
c) ID=0\{-38,6}; IL={0}

a) ID=0\{2}; x=2; 2¢ID; IL=0

b) ID=@\{l}; x=1; 1€ID; IL=0

c) ID=0\{-2}; x=-2; —2&ID; IL=0

a) ID=Q\{2,3}; IL={5} b) ID=@\{1,2}; IL={3}

so-av{2 2} w-w
a) ID=Q\{%}; HN 20(3x — 4); IL={-2}

b) ID=(D\{%}; HN 10(2x — 3); 1L = {4}

a) ID=0\{2}; HN12(x-2); IL = {3}

b) ID = @\ {-3}; HN18(x+3); IL={-1}

a) ID = @\ {=5,4}; IL={5} b) ID=@\{5,6}; IL={9}
a) ID=@\{-1,1}; HN(x+1)(x-1); IL = {0}

b) ID=0\{-2,2}; HN(x+2)(x-2) 1L = {4}

a) ID=@\{-5,5}; HN(x+5)(x-95); x=5; 5¢ID; IL=0
b) ID=@\{-4,0,4}; HNx(x+4)(x—4); 2x=2x; iL=1D

a) ID=0\{-1,0,1}; HNx(x+1)(x—1); x=1; 1€ID; IL=0Q
b) ID=@\{-2,-1,0}; HNx(x+2)(x+1); IL={1}

a) ID=0Q\{-1,0,1}; IL={4} b) ID=@\{-2,0,2}; IL={10}
a) ID=Q\{-4,-3,3; IL={-1)

b) ID=Q\{-2,-1,1}; x=-2; —2¢1ID; IL=0

a) ID=Q\{-7,-2,—1}; IL={l} b) |D=GI\{1,-Z—,2}; IL = {3}

2) ID=Q\{—2,—%,—1}; IL={5} b) |D=m\{7,-175,8}; IL = {9}

a) ID=Q\{4,5,7,8}; IL={6} b) ID=@\{3,4,5,7); IL={1}

a) ID=0\{0,2}; HNx(x-2); x—-2=x-2; IL=ID.

b) ID=0\{-3,0,3}; HNx(x+3)(x—-3); x=-3; -3€¢ID; IL=0
a) ID=@\{0,3)}; HN=x(x—3)(x—3); IL={6} |

b) ID=0\{0,-3}; HNx(x+3)(x+3); x*+4x+9=x*>+4x+3; IL=0Q



L

a) ID = Q\ {0, 2, 3};
b) ID = @\ {0, 4};

3
a) ID= 0\{7}, IL = {5}

a) D= m\{a%}; L= {1}

) IL=(2); 0=e\{$, 3

a) ID=0\ {-3}
b) ID = @\ {2}

) ID=Q\{5}

a) ID = Q\ {4}
b) ID = @\ {3}

¢) ID= 0\ {-1}

a) ID=Q\ {-1}
b) ID= @\ {1}

c) ID=@\{-4}

a) ID = @\ {-3}

b) ID = @\ {5}

HNx(x —3)(x—=2); x*+4=x*-9; IL=0Q

HNx(x —4)(x—4); 4x=4x-16; IL=0Q

1
MID=Q\N%}HL={E}
| , 7

1) D=a\{0, 2};IL= {g}

x>-=-3; x>2; I NIL, ={x|x>2}
x<-3; x<2; IL3yNILy ={xIx<-=-3}
IL={xIx<-3Vx>2}

x>2; x<5; IL; NIL, ={x|2<x<5}

x<2; x>5; IL;3NiLy =0
IL={x]2 <x <5}
" x>5; x<4; ILiNIL, =0

x<5;, x24;, ILsNILy ={xl4<x<5}
IL={x|4 <x <5}

x>4; x>-1; IL, NIL, ={x|x> 4}
x<4; x<-1; IL3NILy ={xIx<-1} -
IL={xIx<-1V x>4}

x>3;, x<2; ILyNIL, =0

x<3; x=22; IL3NiL, ={x]2<x<3}
IL={x[2<x<3}

x>-1; x>-=5; ILyNIL, ={x|x> -1}
x<-1; x<-=5; IL3 NIy ={xIx<-5}
IL={xIx<-5Vx>-1}

x>-1; x<2; L NIL, ={x|-1<x<2}
x<-1; x22; IL3NIL,=0Q
IL={x|-1<x<2}

x>1; x>3; IL NIL, ={x|x> 3}

x<1; x<3; IL3NIL ={xIx<1}
IL={x|Ix<1V x> 3} ;

x>—-4; x<0; I, NIL; ={x|-4<x<0}
x<—-4; x>0; IL;NIL,=0

IL={x|-4 <x<0}

x>-3;, x<-7; IL;NIL, =0

x<-3; x>-7; IL3NIiL; ={x|-7<x<-3}
IL={x|-7 <x<-3}

x>5;, x>7; I NIL, ={xIx>7}

x<5; x<7; IL3NIL, ={xIx <5}
IL={xIx<5Vx>T7}

b) IL={5}; ID= 0\{— % = %}



